AL Ry b

BEBEEZ—IL(FTAKR)—)

<o

&

VA

x
N\

N

AN

EEN | BAREEW | txB c : AR R F o b H
15A 21.7 0.6x25 | 45 20 M6 x 20 56
20A 21.2 0.6%25 | 45 20 M6 x 20 59
25A 34.0 0.6x25 | 45 20 M6 x 20 63
32 1.7 0.6x25 | 45 20 M6 x 20 67
40A 18.6 0.6x25 | 45 20 M6 x 20 70
50A 60. 5 0.6x25 | 45 20 M6 x 20 76
65A 76.3 1.0x32 | 45 20 M6 x 20 84
80 89. 1 1.0x32 | 45 20 M6 x 20 91
100A 114.3 1.0x32 | 45 20 M6 x 20 103

AR :SUS430 B /7\w D)Lk JLEF v b : SUS304
a5 RF UL AT YTGPIL/ AU RBNAN
ME SUS430 RENE RE 1-1
RE BHE b
E=A%
o 1013N010252 Rete A0
NS A SHEET
AR ~ — >
meE AR AT YIRINEAL srsnsm| A3

INTEC




